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Alexandrium spp.: 130
D. fortii: 110
D. acuminata: 1,850
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Alexandrium spp.: 110
D. fortii: 20

D. acuminata: 50
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Alexandrium spp.: 30
D. fortii: O
D. acuminata: 10
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FER Alexandrium spp.(cells/L)

Ol 0848 [9-viH@s#HeEE [OXR Alexandrium spp.
28198 260 270 210 0 10 20
3848 150 120 560 90 - - 600 [ 130
3B11A 110 80 30 0 - 0 <00
3819A 10 0 0 0 - - = %)
3H25H 30 10 0 0 0 ol 3 a0 g
481H 20 70 0 0 - o] = *E
4B8H| 40 90 0 0 - of § 3 g
48158 410 100 10 o 450 90 200
48228 530 410] 140  220] 380] 120
48308[ 290 190 40 170 120 - 100
558H 40 10 30 — 140 -
5A148 60 30] 120 110 - Z 0
5820R 20 0 50 180 50 10
58278 20 20 50 - 120 -
6550 0 0 20 0 - -
6H10H 10 50 20 10 - 50 —o— DiEHr
6818A 130 110 20 70 of] 180
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EER D. fortii (cells/L)
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3B48] 300 0 0 0 - - 3%1,200 #
3118|590 0 0 0 - o| m1,000 5
38190 60 0 0 0 - 1 # 00 %
3H825A 110 10 0 0 0 ol 600
481H 0 80 0 0 - 0 400
488B] 800 110 0 0 - of 200
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58278 0 20 0 — 0 —
6810A 190 0 0 0 — 0  ssEkE
6818A] 1850 50 10 0 0 0




